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G interpret the following graphs in terms of the changes which must have been imposed on the equilibrium,
3

The equilibrium is: PClg(g} + 92. 5 kJ === PCl3(g} + Clx{g).
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7. The equilibrium is; HyO(g) + Cl,0(g) === 2 HOCI(g) + 70 kJ .
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8 Consider the graph below representing the following equilibrium:
]
CH,CH,CH,CH, , (—_"CH]CH(CHj)Z(g)
n-butane isobutane

Data for the graph was obtained from various equilibrium mixtures.

- 4.0
3.0
{n-butane
(mol/L) 20
0
0 [KY] 2.0 3.0 4.0
' [isobutane ]
(molfL)

Calculate the value of K, for the equilibrium.

L= Liso b k\m\g:i
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(2 marks)

9.

Consider the following diagram for a chemical system containing three suostances

represented by A, B and C:

1.00
0.80 \
Concentration  0.60{ - : —~ A
( mol/ L) :
0.40 : B
0.20 g C

20 40 60 80 100 120

Time
(min)

a) What feature of the graph indicates that the system reaches equilibrium?
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b) Write a balanced equation for the equilibrium reaction.

Ad as Bhand CF
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é_) m’%L gl
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c) Calculate K, at equilibrium.
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lo o Consider the following graph for the reaction:
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(mol /L)

energy + N204(g) s
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2N02(g)

a) What is the stress imposed at time t; ?

'M\p. TNE UGN

b) What is the stress imposed at time t5 ?
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c) Calculate K, for the equilibrium between t, and t;.
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